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"""""""""""""""""""""""""""""""""" 1. 9 ,
1-1 662[),5 -|_2 d2—2db+b2+d—b 8'] I.Z"F.Z“Fl 8-2 I.Z*12x+16
2-1 6’ +9xy—17x—3y+5 22 22°—Txy+6y°+2xr—4y 9-1 vy, 4,y 9-2 9x’+24xy+16y°
31 txy—2x—y+1 32 I2xytyi—x—y 10-1 494°—112ab+ 646 10-2 254°—60ab+ 360
2 2 2 2
4-1 x"—4xy+3y —2x+2y 4-2 64°—10ab—4b*+15a-+5b 11-1 xﬂ—%xy—f—%yz 11-2 25x2—5xy+%y2
5-1 —3x*+8xy—5y°—30x+50y ,
52 22'—5xy—12y°+6x+ 9 12-1 —,2z.4 12-2 £*+6x+9
""""""""""""""""""""""""""""""""""" 13-1 4z’ +4z+1 132 2zt
1-2 (a—b)(a—b+1)=a"—ab+a—ab+b—b 14-1 92"+ 122y +4y° 14-2 4x°+20xy+259°
=a’—2ab+b*+a—b 15-1 —, 29,4 15-2 r*—4x+4
16-1 92°—30xy+ 25y 16-2 2°—8xy+16y°
-1 (22+3y—5)(3x—1)=62"—2x+9xy—3y—15x+5
2-1 (22-+3y=5)(3z—1) =6z —2z-+9zy—3y—152+ 171 Lr—az+16 172 Ja'—30+4
=62"+92y—172—3y+5 ~ + e
22 22
2-2 (x—2y)(22x—3y+2)=22"—3xy+2x—4xy+64"— 4y 1-2 (z+1)'=r'+2xrx1+I'=r+2z+1
=22 —Txy+6y°+2x—4 .
v v 2-1 (z+3)=x"+2xxx3+3=2"+6x+9
— — — 2 —
31 —Dlaty—l) =z +ay—z—r—y+l 2-2 (2+7)=2+2Xx X T+7T°=1"+14x+49
=x'+txy—2x—y+1
3-2 (x—3)=r"—2xxX3+3F=2"—6x+9
3-2 (z+y)(xty—1)=24ay—x+xyt+iy'—y
=1+ 2xy+y'—x—y 4-1 (x—5)'=2"—2XxX5+5=2"—10x+25
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42 Loy s s e 152 (—zt2r=(—(2-2))'=(a—2)'=r 4z +4

51 (a+3)=a+2xax2+(3)=a+3at 161 (=30+50)={—(3z—5))*= (32 —5)’
=92"— 302y + 255"
5-2 (d—%)zzaz—zXaX%—l-(%)Z:az—?a—f—t—g V ’ ’ ’
16-2 (—x+4y)'={—(x—4y)})’=(x—4y)’
2 2
6-2 (dz+3)°=(4z)+2x 4z x 3+3°=162+242+9 =z —8ry+16y
7-1 (32—2)'=(32)"—2X 3z X 2+2'=92"— 122 +4 17-1 (—g+a) =~ (La—a)|'=(1a—4)
72 (22—5)'=(22)*—2 X 20X 5+ 5= Az*— 202+ 25 Z%x2—4x+16
1 2 1 \? 1 2 1 o
8-1 <fx+1> :(71,) +2X—xXx1+1"==x"+x+1 2 2
e (g, 12 (~§ersf (20 ()
P 2 H _ 9
82 (3a—4)=(3x)—2xSuxa+e =g% —sr+4
:%IZ—IZI—FIG
9-2 (3x+4y)’=(3x)’+2X3xx4dy+(4y)*
=9x°+24xy+164° 4 . o
A 3A Q) : gt R & p.97 ~p.99
HO o = =
10'] (70_8b)22(7ﬂ)2_2x7ax8b+(8b)z 'I_'I 2’4 ]_2 x2725
=494"—112ab+ 64" 21 -1 2.2 49
o 1 R o 1
10-2 (50—6b)°=(5a)*—2 % 52 X 6b-+ (6b)* 1 vy 32 vy
=25a"—60ab+36b° 4-1 x, 2 42 64—a’
51 9—2° 52 1—x°
P _ 2 R 2
11-1 (x-l—%y)zixz—i—ZXxX%y—f—(%y)Z 61 5r.25r09 62 4r'—1
o 71 9r—4 72 252°—1
:xz—f—%xy—i—%yz 81 25—41° 8-2 1—9x°
9-1 2y, 4y 9-2 1*—81y°
: , -1 494°— 46 2 42°—9y°
11-2 <5x—%y>2:(5x)2—2><SxX%y—F(%y)Z 10-1 la 102 : yl
2 2 2 2
, 1, 11-1 i 9y 11-2 6% 95Y
=2x ey gy 1211 —z.2°1 122 225
‘ , 13-1 94°—4 13-2 92°—254°
12-2 (—2—3)’={—(2+3)})’=(2+3)’=2"+62+9 . 1., )
14-1 4x"—9y 14-2 gxfIGy
13-1 (—2z—1)={—(2z+1)})’=(22+1) 15-1 a, &’ 15-2 1—94°
=42+ 4x+1 16-1 36—a’ 16-2 4y°—x°
17-1 16— 17-2 92— 4y°

sa(e bl -ed) e

:x2+x+%
14-1 (—3x—2y)*={—(3x+2y)}*=(3x+2y)*
=9'+12zy +4y° 22 (a+3)(a—3)=d'—F=a"9

14-2 (—2z—5y)°={—(2z+5y)}*=(22+5¢)° o
o =4x2+2xOxy—y|-25y2 o 3-1 <x—%><x+%>: 2_<%>:x2_%




32 (z+1)(e-%)=r— ()=
4-2 (8+a)(8—a)=8—da'=64—d’
5-1 (3—x)(3+x)=3"—2"=9—2°
5-2 (1—x)(1+x)=1"—2"=1—2"

6-2 (2x+1)(2x—1)=(2x)*—1°=42"—1

7-1 (3z—2)(3z+2)=(3z)"—2°=92"—4
7-2 (52—1)(5z+1)=(5z)"—1°=252"—1
8-1 (5—2x)(5+2x)=5"—(2x)"=25—4z"
8-2 (1+3z)(1—3z)=1"—(32)=1—92
9-2 (x+9y)(x—9y)=x"—(9y)"=x"—81y’

10-1 (7a—2b)(7a+2b)=(7a)’— (2b)*=494"— 45

10-2 (2x—3y)(2x+3y)=(2x)"—(3y)’=4x"— 9’

11-1 (%xﬁ-By)(%x—:%y) = <%x>2_ (33/)2:%1.2_92/2

2 (fer )3 30) (i) o)
9 2 1 -

~ 257

1
12-2 (—z+5)(—2—5)=(—x)*—5=2"—25
13-1 (—3a+2)(—3a—2)=(—3a)’—2"=9a"—4
13-2 (—3z+5y)(—3xr—5y)=(—3z)"— (5¢)"=9x"— 25/’
14-1 (—2x—3y)(—2x+3y)=(—2x)"—(3y)’=42"— 9’

162 (~heo) o)~

1 2 L
= 9x 16y

15-2 (3¢+1)(—3a+1)=(14+3a)(1—3a)
=1"—(3a)’=1—94"

16-1 (—a—6)(a—6)=(—6—a)(—6+a)
=(—6)—d’=36—d
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16-2 (—x—2y)(x—2y)=(—2y—x)(—2y+x)
(—2y)—x'=4y"—x

17-1 (4—y)(y+4)=(4—y)(4+y)=4—y'=16—y

17-2 (3x—2y)(2y+3x)=(3x—2y)(3x+2y)
=(32)*—(2y)*
=9x’—4y’

p. 100 ~ p. 101

1-1 6ab+8ac+3b+4c 1-2 12ab—20ac+6b—10c¢

1-3 62°—7x+2 1-4 22°+5xy+2y°

15 2*—y'—x—y 1-6 x2*—4xy+3y"—2x+2y
1-7 2&°—ab—b"—3a+3b0 1-8 4a"—8ab—+3b"—2ac+bc
2-1 x 4x*—12xy+9y° 22 x x'—1

2-3 X, 92°—24xy+16y° 2-4 x x’—9

3-1 r'+8x+16 32 9’ +12x+4

3-3 25— 10xy+y° 3-4 4x"—28x+49

3-5 4r°+12x+9 3-6 x'—36

3-7 81—64x" 3-8 1-9x°

3-9 254°—9x°

4

1-5 (z+y)(z—y—1)=2'"—zy—x+a2y—y'—y
=2’ —y'—z—y

1-6 (x—y)(x—3y—2)=2"—3zy—2x—xy+3y"+2y
=x'—dxy+3y"—2x+2y

1-7 (2a+b6—3)(a—b)=2a"—2ab+ab—b"—3a+3b
=2a"—ab—b*—3a+3b

1-8 (2a—3b—c)(2a—0b)
=4a"—2ab—6ab+3b"—2ac+bc
=4a"—8ab—+3b"—2ac+bc

1 2'—36 1" —122+9 1—9x° 216 ]
7'+ 8xr+16 — 47"+ 49 4x'+ 12249 55—y’
25y°—9x” 92"+ 12x+4 81— 64x” 4x°—28x+49
-1 =12 250" —10xy+y © 2H122+36
[ -



=x'+2x—24

m 82 (z+6)(z—) =2+ (6—4)z+6x (—4)

5 SH340G:

______ 2 ARTHIQ S R Z () p102-p103 gy (isy(n6)=2't (5—6)z 5% (—6)
1-1 5,4 12 2°+7x+10 =2"—x—30
2-1 2*+5x+4 22 x*+9xr+18
31 2*+13x+36 32 2’+152+56 9-2 (2+8)(x—9)=2"+(8—9)x+8x(—9)
41 56 42 r'—3z+2 — 79
51 2°—9x+20 5-2 2°—13x+30
6-1 215 62 '—2xr—8
’ _1 Ay e (1, 1 1y 1
71 £—6r—7 72 z'—51r—24 10-1 <$ 2)<x+3>_x+< 2+3>x+< 2>X3
8-1 r’—dxr—21 8-2 x'+2x—24 i1
9-1 #—2—30 9-2 F—z—72 6= 6
, 1.1 . 1.1
10-1 &'— 2 —— 102 ¥*'——a—=
. T e e
29 . O 2 IR
11 7' Jr— 112 255055 R
___________________________________________________________________ =X —g.f—?

1-2 (x+2)(x+5)=2"+(2+5)r+2X5=2"+7x+10

2-1 (z+1)(x+4)=2"+(1+4)x+1X4=2"+5xr+4

gt
2-2 (z+3)(x+6)=2"+(3+6)r+3x6=r"+9x+18
12 (e )= d)n (e ()
3-1 (z+4)(x+9)=2"+(4+9)x+4x9=2"+132+36 1 1
:x—l-%x—%

3-2 (x+7)(x+8)=2"+(7+8)x+7x8=x"+15x+56

4-2 (x—1)(x—2)=2"+(—1—2)x+(—1)x(—2)
=x’—3x+2

5-1 (z—5)(x—4)=z2"+(—5—4)z+(—5)x(—4)

o, 1-1 16y, 16y, 13, 48y’ 1-2 x'+5xy—36y°
=& —9x+20 2-1 2+5xy+6y° 22 2*+8xy+15/°
3-1 2—10xy+21y° 32 2—9xy+20y°
5-2 (2—10)(z—3)=2"+(—10—3)x+(—10) X (—=3) 4-1 r'—2xy—8y° 4-2 x*+5xy—14y°
=2*—13x+30 5-1 2'—xy—72° 5-2 2*+5xy—66y°
6-2 (x—4)(x+2)=2"+(—4+2)x+(—4)x2 1-2 (z—4y)(z+9y) ="+ (—dy+9)x+(—4dy) X9
=x'—2x—8 =x’+5xy—36y°
7-1 (z—7)(x+1)=2"+(—7+1)x+(—7)x1 2-1 (a+2)(2+3y) =2+ (2y+3y)x+2y X 3y
— P —6r—7 =2+ 5xy+ 6y
7-2 (z—8)(x+3)=z"+(—8+3)x+(—8)x3 2-2 (z+3y)(x+5y)=x"+(3y+5y)x+3y X5y
=x*—5xr—24 =x*+8xy+ 15y
81 (z+3)(x—7)=2*+(3—7)x+3x(—7) 31 (2—=3y)(x—Ty)=2+(—3y—Ty)x+(—3y) x (—T7y)
=r’—4x—21 =x"—10xy+21y°



4-1

4-2

5-1

5-2

9-1

10-1 82+ 8xy—6y°
11-1 42°+5xy—21y°

2-1

2-2

3-1

3-2

(x—5y)(z—4y) =2+ (—5y—4y)x+(—5y) x (—4y)
=2*—9xy+20y°

(x+2y)(x—4y) =2+ (2y— 4y ) x+2y X ( —4y)
=x'—2xy—8y°

(x47y) (x—2y) =2+ (Ty—2y) 2+ Ty x (—2y)
=x*+5xy— 14y

(x+8y)(x—9) =2+ (8y—9y)x+8y X (—9y)
=2 —xy—72"

(x—6y)(x+11ly)=2"+(—6y+1ly)x+(—6y) x 11y
=2+ 5xy — 66y

T B @)

p. 105 ~p. 106
3,6,7,2 1-2 122°4+7x+1
8x’+24x+18 2-2 5x°+22x+8
28x°+19x+3 3-2 9x’+30x+24
—4,1,9,4 4-2 2x°—11x+15
122°—132+3 5-2 5x’—31x+6
4,2,2 6-2 4x’+5xr—21
6x"+x—2 7-2 12x°+5x—3
8x°+8x—6 8-2 12x°—9x—30
412—%36—% 9-2 9x2—%x—%

10-2 62°—7xy—20y°
11-2 122°—9xy—304°

(3z+1)(4r+1)=(3x4)2"+ (3x1+1x4)r+1x1
=122+ 7x+1

(20+3)(4r+6)=(2x4) "+ (2X6+3%x4)x+3%6
=8z +24x+18

(x+4)(5x+2)=(1%x5)r"+(1X2+4X5)x+4X2
=5x"+22x+8

(7Tx+3)(4x+1)=(7x4) 2"+ (7x14+3%x4)r+3x1
=282"+19x+3

(32+6)(3x+4)=(3x3)x"+(3x4+6x3)r+6x4
=9x°+30x+24
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5-1

5-2

6-2

7-2

8-1

8-2

9-1

9-2

10-1

(x—3)(22—5)
=(1x2)2+{1x(—5)+(—3)x2}x+(—3) x (—5)
=2r"—11x+15

(3x—1)(4x—3)
=(3x4)r*+ {3x(—3)+(—1)x4}z+(—1) x
=122"—132+3

(—3)

(52—1)(x—6)
=(5x1)2+{5X(—6)+(—1)x1}z+(—1)x (—6)
=51"—31lx+6

(4x—7)(x+3)
=(4x D)2+ {(4x3+(—7)x1}x+(—7) X3
=41°+5x—21

(22—1)(3x+2)
=(2x3)’+{2x2+(—1)x3}xr+(—1)x2
=6x’+xr—2

(32r—1)(4x+3)
=(3x4)2*+{3x3+(—1)x4}x+(—1)x3
=122"+52—3

(22+3)(4x—2)
=(@2x)xr*+{2x(—2)+3x4}r+3%x(—2)
=8x"+8xr—6

(4x+5)(3x—6)
=(4x3)2*+{4X(—6)+5x3}x+5%x(—6)
=122"—9x—30

(22=)(2e5)

R

— 2 2\, 1 1.(_2
(3><3)x+{3><< 3>+2x3}x+2x< 3>
—gp2_1 1

9x 2x 3

(2x+3y) (dx—2y)
=(2x4)x’+{2x (—2y) +3y x4} z+3yx (—2y)
=8x"+8xy— 6y



10-2 (3z+4y)(2x—5y)

=(3%x2)x*+ (3% (—5y) +4y x 2} x+4y X (—5y)
=6x"—Txy—20y°

11-1 (4x—7y)(x+3y)

=(4x 1)+ {4 x3y+(—7y) x 1} z+(—T7y) X3y
=42+ 5xy—21y°

11-2 (3x—6y)(4x+5y)

p. 107
—12,11,2 12 —2x*—17x—21
—6x"—13x—5 2-2 —102"+9x+9
—6x°+192—10 32 —21x°+8x+4
6x°+5x—4 4-2 12x°+17x—5

2-1

2-2

3-1

3-2

4-1

4-2

=(3x4)2"+ {3 x5y+(—6y) x4} x+(—6y) X5y
=122"—9xy—30y°

5 SA@):

—52°+28xy +12¢° 5-2 6x°+xy—2y°

(—x—7)(2x+3)
={(—1)x2}) 4+ {(—1) x3+(—=7)x2}x+(—7) x3
=—22"—17x—21

(3z+5)(—2x—1)
={3x(—=2)}*+{3x(—1)+5x(—2)}x+5x(—1)
=—62"—132z—5

(52+3)(—2x+3)
={5x(—2)}’+{5x3+3x(—2)}x+3x3
=—10£"+9x2+9

(—2x+5)(3x—2)
={(=2)x3} 2+ {(—2) x (—2)+5%x3}2z+5x (—2)
=—62"+192x—10

(7x+2)(—3x+2)
={7x(=3)}+ {7x2+2%x (—3)}x+2x2
=—212"+8x+4

(—2x+1)(—3x—4)

={(—2)x(=3)}"+{(—2) x (—4)+1x(—3)}x
+1x(—4)

=6x"+5x—4

(—4x+1)(—3x—5)

={(=4)x(=3)}x"+{(—4)x(=5)+1x(=3)}x
+1x(—5)

=122"+17x—5

5-1

5-2

3-1

3-2

(—5x—2y)(x—6y)

={(—5)x1}z*+ {(—5) x (—6y)+(—2y) x 1}z
+(—2y) x(—6y)

= —52"+28xy+12y°

(—2zx+y)(—3x—2y)

={(=2) x(=3)}2’+ {(—=2) x (—2y) +yx (—3)}x
+yx(—2y)

=6x"+xy— 2y

22Xt Alo| 7Y p. 108 ~ p. 109
—21 1-2 42°—10

20°—3x+16 2-2 2x’—5x—8

—6x+9 32 2x"—5xr—22

12x 4-2 2x’+3xr—41
2x°+18x—5 52 —8x’—15x+6

24’ —5x—5 62 13x—9

6x°—13x+2 7-2 7x—8

22"+ 8xy —9y° 82 —12xy

—3y°+3xy 9-2 —y'—5xy

=r'—d4x—21—r*+4x
=—21

(x—5)(x+2)+3x(x+1)=2"—32x—10+32°+3x
=42"—10

(x+2)+ (x—4)(x—3) =2+ 4x+4+2"—7x+12
=22"—3x+16

(x—2)4+(x—4)(x+3)=2"—dx+4+2"—2—12
=22"—5x—8

(x—1)(x—5)—(x+2)(x—2)=2"—6x+5—(£°—4)
=x'—6x+5—2"+4
=—6x+9

(x4+1)(x—6)+(x—4)(x+4)
=x’'—5r—6+x"—16
=22"—5xr—22

(x+3)—(x—3)'=2"+62x+9—(£"—6x+9)
=2'+6x+9—2"+6x—9
=12x



42 (—z—1)(—z+1)+(z—5)(z+8)

=x'—1+2"+3x—40

=214 3x—41 72 EEYE | 05~09 p.110~p. 111
5-1 (2x+1)(4x+1)—6(x—1)* 11 Xz +z—6 1.2 x 2" —xy—2
— 82+ 6241 —6(2"—2241) 1-3 X 62°+x—1 1-4  x 122°+7xy+y°
a2 2 2-1 x*—3x—4 2-2 x'—16x+63
— 8 For Tl m6r 26 2.3 2 +2xy— 154 2-4  8z*+22xy+154°
=22"+18x—5 - y— Loy -4 8x'+22xy+15y
2-5 252" —25x+6 2-6 152°—Txy—2y°
5-2 (22—1)*—(32z—1)(4x+5) 2-7 —4x’+19xy—21y° 2-8 32+ 7xy+4y

=4r*—4r+1—(122°+11x—5 3 ©

:4x2—24x+1—§2x2—11x+5 | [[;[[;%%[D[[:
=—8x"—15x+6 — )

6-1 (2x—3)(3zx+2)—(2x+1)(22—1) F[—M[TI[T[T

=6x"—5x—6—(42°—1) [T[—mm[—[—

E N

[

_

L

+
(=2}

an

=6x"—5r—6—4x"+1 mm[T[Z—

=2x"—5x—5 74 mm[@[—

6-2 (3x—2)(4x+3)—3(—2z+1)° [—[_]mm[—

=120+ 21— 6—3(42°— 4x+1) , [”—[_]mmm
]

=122+ xr—6—122"+12x—3 [—
=132z—9

CECEECOEE
ClL

7-1 (—4x—3)"+(—2x—7)(52z+1)

, , 3 W (x42)+(2x+1)(x—4)
=16x +24x+9—10x"—37x—7

=2+ 4x+4+25"—Tx—4

=6x"—13z+2 33y

7-2 (—224+1)(32—2)—6(—z+1)(z+1) ©) (x—y)’'—(z+y)'=2"—2zy+y'— ("4 22y +y°)
=—62"+7x—2—6(1—27) =2’ 2zxy+y’—2'—22y—y°
=—62'+72—2—6+62 =—dxy
=7x—8 7 (x+1)(x—3)—(x—3)(x+3)

=r'—2x—3—(2*—9)
=x'—2x—3—2"+9
=—2x+6

8) (32z+2)(3x—2)—(3z—1)°
=9x"—4— (92°—6x+1)

8-1 (2z+y)(2x—y)—2(x—2y)"
=42 —y—2( 2" —Axy+4y°)
=42’ —y’— 22"+ 8xy — 8y’
=22"4+8xy—9y°

8-2 (r—3y)"—(x+3y)’ =92 4—92°+6x—1
=x'—6xy+9y"— (2’+6xy+9y°) =6x—5
=2’ —6xy+9y'—x’—6xy— 9y’ © (y—1)(y+9) +y(3y—8) =y*+8y—9-+3y"—8y
=—12xy =4y"—9

@ (2x+3)*—(z+2)(x+11)
=42+ 122 +9— (2’ +13x+22)
=47+ 12x+9—x"—13x—22
=32"—x—13

9-1 (r—y)(xt+4y)—(—x—y)(—x+y)
=2+ 3xy—4y"— (£*—y°)
=2+ 3zxy— 4y — 2+
=—3y"+3xy

9-2 4(x—y)(x—5y)+(—4x+7y)(x—3y)
=A4(x*—6xy~+5y°) — 42"+ 192y —214°
=4x"—24xy+20y°— 42"+ 192y — 21y
=—y'—b5xy

34| gty



10 =AM ZAIS 0|28 2a|4-0| AlAH(1) p.112
111 /5.8+2/15 12 3+2/2

2-1 37+20/3 22 9-2/14

3-1 10—4/6 32 34—6/21

41 32 42 2

51 1 52 —2

1-2 (J24+1)’=(/2)+2x/2x1+1°
=2+2/2+1=3+2/2

2-1 (2/345)°=(2/3)*+2x2/3%x5+5
=12+20/3+25=37+20/3

2-2 (JT—/2)=(7)—2xJTx 2+ (/2)
=7—2/14+2=9—2/14

3-1 (V6—2)’=(/6)"—2x/6x2+2°
=6—4/6+4=10—4/6

3-2 (3/3—/7)"=(3/3)"—2x3/3xJ7T+(7)
=27—6/21+7=34—6/21

4-2 (/5+/3)(J5—/3)=(/5)"—(/3)’=5—3=2
5-1 (3+2/2)(3—2/2)=3—(2/2)’=9—-8=1

52 (—/5+/T)(=/5—{T)=(=/5)"=(J7)’

=5—7=—2
11 =4 342 0|88 Rl Akt @) p.113
1-1 3,3,11+5/5 12 —4+3/6

2-1 —8+2/7 2-2 —14—2/10

31 —14—3/3 32 30—13/6

41 6+2/2 4-2 35+18/3

51 1—/10 52 12—5/6

1-2 (J6+5)(J/6—2)=(/6)*+(5—2)/6+5x (—2)
=6+3/6—10=—4+3/6

2-1 (J7=3)(y7+5)=(/7)+(—=3+5)/7+(—3) x5
=74+2/7T—15=—8+2/7

2-2 (/10+4)(J10—6)=(/10)"+(4—6)/10+4x (—6)
=10—2/10—24=—14—2/10

3-1 (2/3+5)({3—4)=2x(3)(—8+5)/3+5x(—4)
=6—3/3—20=—14—3/3

3-2 (2/6—9)(/6—2)
=2x(/6)*4+(—4—9)/6+(—9) x (—2)
=12—13/6+18=30—13/6

4-1 (2/2—-1)(2/2+2)=4x (J2)*+(4—2)/2+(—1) x2
=8+2/2—2=6+2/2

4-2 (3/34+2)(3/3+4)=9x ({3)*+(12+6)/3+2x4
=27+18/3+8=35+18/3

5-1 (/5+/2)(/5—2/2)
=(y5)"+(J2—2/2)/5+/2x (—2/2)
=5—/10—4=1—/10

5-2 (3/2—2/3)(J2—/3)
=3x(y2)*+(—3/3—2/3)y2+(—2/3) x (—/3)
=6—5/6+6=12—5/6

12 =4 BAS 0128t £20| {23} p. 114 ~p. 115
141 V241241 1-2 52_1
21 —3-2/3 2.2 /1_04—/5
31 —2/2+3 32 2@“
41 [5+/2 42 —2/3+2/5
5-1 (/3+/2)*/3+/2,5+2/6
5-2 9+4/5
6-1 3+2/2 62 5+2/6
7-1 %ﬁ 72 9-4/5
81 % 82 —/3+2/2
9-1 10—7/2 9-2 14+8/3
19 L _ /3—1 _ 31
J3+1 (V3+1)({3—1) 2
9.1 I3 3342 _st23_ o =

J3—2 (f3-2)(/3+2) —1

3. EI—%H\I O|

2

g

4135



4-1

4-2

5-2

6-1

6-2

7-2

8-1

2 J2(y5-1) _ J10—/2
J5+1 (/5+1)(/5—-1) 4
1 2/2—3 _2/2-3_
2/213  (2/2+3)(202—3)  —1 2/2+3
1 2/3+1 _2/3+1
2/3—1  (2/3—1)(2/3+1) 11
3 3(/5+/2)
/5—y2  (J5—/2)(/5+/2)
:3<J€;ﬁ):£+ﬁ
4 _  4(/3-/5) 4(/3—/5)

3+ (J3+/5)(/3—/5) -2
——2(/3—5)=—2/3+2/5

/5+2_ (/5+2)°

/52 (/5—2)(y5+2)
=(/5)*+2x[5x2+2°
=9+4/5

241 (J2+1)?

2—1 (V2—1)(y2+1)
=(/2)*+2x/2x1+1°
=3+2/2

J6+2  (/6+2)

J6—2 (/6—2)(/6+2)
_(/6)’+2x/6x2+2

2

10+4J— 5426

J7+(3 _ (J7T+/3)°

J7—V3  (J7=V3)(J7+/3)
_ (7)) +2xJ7x{3+(/3)°

4

_10+2/21  5+/21
o 4 2

J10—/8 _ (/10—/8)’

J10+/8  (J10+/8)(J10—/8)
_ (J10)*=2x/10x /8+(/8)"
2

_ 18— 8/_

=9—4/5

V3—1 _ (J3—-1)(2/3+3)

2/3—3  (2/3—3)(2/3+3)
_6+/3-3_3+/3
3

36| TEntaiy

®
)

9-2

3-2

4-1

4-2

5-1

5-2

[6+1 _ (J6+1)(J2—/3)
J2+/3 (J2+/3)(J2—/3)
_12=/18+/2=/3

—1

—(2/3-3/2+/2—/3)
=—/3+2/2

2—2 _ (2=/2)(3—2/2)

3+2/2  (3+2/2)(3—2/2)
=6—4/2—3/2+4
=10—7/2

44+2/3  (44+2/3)(24+/3)

2—/3  (2—/3)(2+/3)
=8+4/3+4/3+6
=14+8/3

=l AIZ 018t 2| AlAH(T) p.116
2,1,2601 1-2 10201

5184 2-2 8281

2,2,2304 32 9025

7569 4-2 159201

37.21 52 94.09

101°=(100+1)*=100°+2 % 100 x 1+1
=10000+200+1=10201

72°=(70+2)*=70°+2X 70 X 2+2°
=4900+280+4=5184

91°=(90+1)*=90°+2x 90 X 1+1°
=8100+180+1=8281

95°=(100—5)*=100"—2 % 100 X 5-+5°
=10000—1000+25=9025

87°=(90—3)*=90°—2x 90 X 3+3°
=8100—540+9=7569

399°=(400—1)*=400"—2 X 400 X 1+1°
=160000—800+1=159201

6.1°=(6+0.1)"=6"+2x6x0.1+0.1°
=36+1.2+0.01=37.21

9.7°=(10—0.3)*=10°—2x 10X 0.3+0.3"
=100—6+0.09=94.09



14 =M ZAIZ 0|25t 0| AAHQ2)

2-2

3-2

5-1

5-2

p. 117

2,2.2496 1-2 896

9991 2-2 39996

99.96 32 2499

88,8 11124 4-2 253510

10282 5-2 38612

28X 32=(30—2)(30+2)=30"—2°
=900—4=2896

97 X 103=(100—3)(100+3)=100"—3"
=10000—9=9991

202 % 198=(200+2)(200—2) =200"— 2’
=40000—4=39996

10.2%X9.8=(10+0.2)(10—0.2) =10°—0.2°
=100—0.04=99.96

49%x51=(5—0.1)(5+0.1)=5"—0.1
=25—0.01=24.99

502 X 505=(500+2)(500+5)
=500"+(2+5) X500+2 X5
=250000-+ 3500+ 10=253510

97 X 106=(100—3)(100+6)
=100°+(—3+6) x100+(—3) X6
=10000-+300—18=10282

196><197:(200—4)(200—3)
=200"+ (—4—3) X200+ (—4) x (—3)

=40000—1400+12=38612

p. 118 ~p. 119

a+b,9, a+2ab+b"—

r—2zxy+y—4

24 2xy+y—Tr—Ty+10

2+ dxy+ 4y +52+10y+6

4" +4xy+y’—16x—8y+15

92’ + 6y +y’+3x+y—2

LH2x+1-9/° (g7 )11

a—4a+4—0b

2. x+ty, 2+ 2xy+y —2x—2y+1

@’ —2ab+b*+4a—4b+4
a*+4ab+4b"—2a—4b+1
4x*+12xy+ 9y +4x+6y+1

42+ 4xy+y —12x—6y+9

@’ —8ab+16b’+10a—406+25
y—12—y'+2y—1 82 x'—4y+12y—9
=9y +24y—16 9-2 &'—b'+8b—16

2-1

3-1

3-2

(x—y+2)(x—y—2)
=(A+2)(A—2)
A e
=(z—y)’—4
=x'—2xy+iy°—4

(x+y—2)(x+y—5)
=(A—2)(A—5)
=A’—7A+10
=(x+y)’—7(x+y)+10
=2+ 2xy+y —Tx—Ty+10

]+yA§_§._

] A=z-+y2 0

(x+2y+3)(x+2y+2)
=(A+3)(A+2)
=A’+5A+6
=(x+2y)*+5(x+2y)+6
=x’+4xy+4y°+52+10y+6

] r+2y=AR X|gt

] A=x+2y5 U

(224+y—3)(2x+y—5)
=(A—3)(A—5)
=A’—8A+15
=(2x+y)’—8(2x+y)+15
=4x’+4xy+y'—16x—8y+15

] 2x+y=AZ X&

] A=22-+y2 2!

(3x+y—1)(3zx+y+2)
=(A—1)(A+2)
=A"+A—2
=(3z+y)*+ (3z+y)—
=92+ 6xy+y°+3x+y—2

] 3xty=A=Z x|t

] A=3z+y2 T}l



4-1

4-2

5-2

6-2

7-2

(x—3y+1)(x+3y+1)
:(x+1—3y)(x—0—1+3y)]

+1=AZ X8
=(A—3y)(A+3y)
:A2_9 2
y‘ ] A=x+1= 0
=(x+1)*—9/°

=2 +2x+1—9°

(a+0—2)(a—b—2)
=(a—2+0b)(a—2—0)
=(A+b)(A—b)
=A"—¥
=(a—2)"=b"
=a'—4a+4—0b"

] a—2=A= X|2t

]A:szz% Chel

(a—b+2)*
=(A+2)
=A*+4A+4

=(a—b)"+4(a—0b)+4
=a"—2ab+b"+4a—4b+4

] a—b=A= X|&t

]A:a—bg chel

(a+2b—1)°
=(A-1)
=A"—2A+1
=(a+2b)*—2(a+2b)+1
=d’+4ab+4b>—2a—4b+1

]a+%:A§ﬂ§

]A:a+2b% che

(2x+3y+1)*
=(A+1)

=A+24+1
=(2x+3y)*+2(2x+3y)+1
=42+ 122y + 9y +4x+6y+1

] 22+ 3y—=A=Z xj8t

(2x+y—3)°
=(A—3)’
=A"—6A+9
=(2z+y)*—6(22+y)+9
=42+ 4xy+y'—12x—6y+9

] 2et+y=A= X2t

] A=2x+yE i

(a—4b+5)°
=(A+5)
=A*+10A+25
=(a—4b)*+10(a—4b)+25
=a’—8ab+16b’+10a—40b+25

]a—axbfAﬁ x|at

] A=aq—4b= the]

38| TEutaiy

] A=2x+3yE i

82 (x—2y+3)(x+2y—3)
={r—(2y—3)} {x+(2y—3)}
=(x—A)(xz+A)
=r'—A°
=x'—(2y—3)*
=2'— (4" —12y+9)
=r’—4y*+12y—9

]A:z.z/fs% chel

9-1 (x+3y—4)(x—3y+4)
={z+By—4)Hx—(3y—4)}
=(xz+A)(x—A)
=z'— A’
=2"—(3y—4)*
=x"—(9y"—24y+16)
=2"—9y°+24y—16

] A=3y—4E U

9-2 (a+b—4)(a—b+4)
={a+(b*4)}{a*(b*4)}] p—
=(a+A)(a—A)
=a—A’
=a’—(b—14
=a"—(b’—8b+16)
=a"—b’+8b—16

A=b—45 Y
)2

1-1 14—6/5 1-2 9+6/2
1-3 10 144 —31—/15
2-1 10609 2-2 9801

2-3 10605 2-4 3596

3-1 r'+2xy+y’—5x—5y—14
3-2 9+ 12xy+4y’—6xr—4y+1
3-3 4’ +4xy+y"—9

34 2—6x+9—4y°

4 2474

2-1 103°=(100+3)*=100"+2 x 100 X 3+ 3
=10000+600-+9=10609

2-2 99°=(100—1)’=100*—2x100x 1+1°
=10000—200+1=9801

] 2u—3=AR Xl

] y—4=A= x|t



2-3

2-4

101105 =(100+1)(100+5)
=100"+(145) X 100+1 X5
=10000+600+5=10605

62x58 =(60+2)(60—2)=60>—2
=3600—4=3596

(z4+y+2)(x+y—7)
=(A+2)(A—7)
=A"-5A—14
=(z+y)*—5(z+y)—14
=2*+2xy+y° —5x—5y—14

]x-&-g/:AE x|zt

| a=arimo

(3x+2y—1)*
=(A—1)

=A"—24A+1
=(3x+2y)*—2(3x+2y)+1
=92+ 12zy+4y"—6x—4y+1

] 3r+2y=A= X|et

]A:3x+2y% chel

(224+y—3)(2x+y+3)
=(A—3)(A+3)
=A—9
=(2z+y)*
=4x’+4xy+y'—9

]2x+y:A§ x|zt

] A=2x+yE U
—9

(x+2y—3)(x—2y—3)
=(x—3+2y)(xr—3—2y)
=(A+2y)(A—2y)
=A—4y
=(x—3)"—4y
=2 —6x+9—4y

] r—3=A= X|&t

, | A=z—3g el

7| AN HIAE
@ 16x°+8x+1
@) £"—12x+36

(5) 92°—24x+16

@) sz—%x—f— 1

®) xz—x-i-%

@®) 9x*+12zxy+4y°

16
2 (1) 249 ) 362°—25
(3) 42°—9 @ 47—z’
1 . 9 »
(5) Il‘ 16

3 ()2 +7x+10
3 15x°+59x+56
(5) —122°—5xy+24°
4 Mx @Qx x @O 6 x

Q@ x*—13xy+36y°
@ 20x°+13xy—15y°

(1) 10+4/6 2 12—2/35 Q —2
@ 12+5/6 ) 16+/6
6 (1) —2/3+2/5 )] J1_52+3
3 —8—3/7 @ 10+7/2
7 () 2/2-2 @ J2-3
1) A, 529 2 ®, 10192
3 ©, 998001 4) ©, 6396

9 (1) 9x"—9xy—3y° 2 13z—9
3 r'—1 @) d*—ab—2b0*+2a—b+1
() @—4b°—4b—1

4 4(3—/5)
/3+/5  (/3+/5)(y3—/5)

_4(/3=/5) _
—_72——2/54—2«/%

o A6 J8(T0+/6) 60+
J10—/6  (/10—/6)(/10+/6) 4
_2/15+6 _ J15+3
4 2

3 J7+3_ (J7+3)*
J7—=3  (J7=3)(J7+3)
16+6/7
_72——8—3/7
@ 22 _ (2+/2)(3+2/2)
3—2/2  (3—2/2)(3+2/2)

=10+7/2

J6—2/3  2-3/2

7 O 73 +/§—3
5o, (2—3/2)(J2+3)
/22t (/2—3)(y2+3)
o, 2/246—6—9/2

=/2—2+/2=2/2—2

p.122 ~p. 123



o) (T0=(5_2/5—1

/5 /5—2
5, (2/5—4)(/5+2) _ )
=/2-1 (/5—2)(/5+2) CletAlo] o125

=/2—1—(10+4/5—4/5—8)

=/2—-3
BEEED

8 (1) 23=(20+3)"=20"+2%x20%x3+3 1 o125 p. 126

T
=400+1204+9=529 i T S S
(2) 98 %104 =(100—2)(100+4) 11z 12 —2rbr
2) 98x104 = —

, 2-1 2*+2xy+y’ 2-2 4x*—4x+1
=100°4+(—2+4)x100+(—2) x4 3] P 32 9795
=10000+200—8 41 Z+51+6 42 2—9r+14
=10192 5-1 22°—11x+5 5.2 —62°+137—6

(3) 999°=(1000—1)*=1000"—2x 1000 X 1+1* 77777

=1000000—2000+1=998001
(4) 78 x82 =(80—2)(80+2)=80"—2
=6400—4=6396
9 () (2z2+y)(50—7y)—(x—2y)(x+2y)

_ 2 2 (2 a2
=102"—92y—7y"— (x 4%/) 2 olx o127
=102"—9xy—Ty° —’+4y> oo
— 02— 9y — 3y 111 3, 2—1,24+x—23(x—1) (&7 Jxr—1

12 1l x+1,2°—1, 25—z '~z
2

2 (32—2)(4x+3)—3(2x—1)"
=122+ xr—6—3(4x"—4x+1)
=122+ r—6—122"+12x—3

21 lLx—ya (x—y)
2-2 a,ab,d’+ab,ab(a+b)
31 lxx—y x—xy

=13x—9 3.2 o o
' ) ' -2 xty x—y,x—y
@) (z—1)(z+1)(Z+1)=(2"—1)(Z 1) =2 =1 | cremmemr e
@ (a+b+1)(a—2b+1) 12 z(z—D(z+1)=1x2(z—1)(z+1)
o o - =,
=(a+1+b)(a+1 2b>]m]:A§i@ ox (-1 (at]) x
—(ArhA-z) —z(z—1)x(z+1) "
_ N2 o2 N "
oA , | A=a+1g o C T =alaty ey
=(a+1)—bla+1)—2b
=d’+2a+1—ab—b—2b 21 alz—y)=1xalz—y)’
=d"—ab—2b"+2a—b+1 —ax (z—y)
(5) (a+2b+1)(a—2b—1) —a(z—y) % (z—y)
:{a+(2b+1)}{a_(2b+l)}]2b+1:/1§7'<|§_+
=(at+A)(a—A) 22 abla+b)=1xab(a+b)
:az_A 2]A*2b+l%EH%l =abx (a+b)
=a—(20+1) | —alat+b)xb
=a"— (40°+4b+1) =b(a+b) xa a+ab
=a'—4b"—4b—1
31 Z(z—y)=1x2(z—y)
=z x(z—y)
=xxz(x—y)
' —zxy
32 (zt+y)(z—y)=1x(z+y)(z—y)
1’1*2/2

40 | Featahid



3 SEQE 0|85 oI-E5H p. 128~p. 129 10-1 4(a—b)+x(b—a)=4(a—b)—x(a—0)

11 b+e 12 22(y+32) =(a—b)(4—2)
21 2elz=sy) 22 Se(2r5) 102 (142) (1—9)+(r—1) =(142) (1=9)— 1 x (1=9)
3-1 5xy(x+2) 32 4x2y(2x—‘3y) (=) (1+2—1)
41 x(a—b+c) 4-2 x(4x—6x"+5) —2(1—p)
5-1 xy(y—z+1) 52 42’y(1+3zy—2y")
61 a—4 62 (a—0b)(x+y) 11-1 y(x—1)—zx+1=y(x—1)—(x—1)
7-1 cla+b—2) 72 ( ) =(z—1)(y—1)
81 (z+y)(1+x—3y) 82 (a—b)(2—x—y)
9-1 z—2y x—2y 92 (a—b)(z—y) 11-2 x(y*Z)*(Z*y):x(y_ZH‘(Z/_Z)
10-1 (a—b)(4—2x) 10-2 z(1—y) =(y—2z)(x+1)
111 (x—1)(y—1) 112 (y—z)(x+1)
1-2 2xy+6xz=2xxXy+2x%x32=2x(y+32)
2-1 2x°—6xy’=2x X x—2x X 3y"=2x(x—3y")
2-2 10x°+25x=5x %X 2x+5x X 5=>5x(2x+5)
3-1 52+ 10xy=>5xy X x+5xy X 2=5zxy(x+2) m
32 8eYy—120'y'=dx'yx 22 —Aayx y=dxy(2z—3y)  ZIEFLESASF[01-03  piso~pin
1-1 1,z,x+y 12 zy—1,4'—1
4-1 ax—bx+cx=xxa—xxb+xxc=x(a—b+c) 1-3 1z 246 2(x+6) -4 1zyayy—z
4-2 42'—6x’+5x=x X dx—2 X 62X +2 X5 21 22 x
2 23 x 24 O
=x(4x—6x°+5) 25 x 26 O
5-1 x/'—xy+xy=xyxy—xyXxx+axyx1 31 z(a+tbd) 32 r(x—3)
3-3 3ala+3) 34 —x(x+3y)
=ayly=zt1) 3-5 3m(a—4d) 3-6 5ab(4a+3b)
5.2 dzy+ 122" — 8% 3-7 3ala—2b*+3b) 3-8 abla—b+2)
— 4% X 1 + 5% X 32y — 45 X 2 39 2xy(x—2y+a) 3-10 26(x—y)
=42y (1+3xy—24°) _3_-_]_! : _(_J_C_T_?_)_(j?/_l :_F jil? ____________________________________________
71
6-2 z(a—b)+yla=b)=(a—0b)(x+y) T
1-3 2*+6x=x(x+6)
7-1 (a+b)c—2c=c(a+b—2)
1-4 xy'—2y=xy(y—x)
7-2 (1—a)—a(l—a)=(1—a)x1—(1—a) Xa
—(1—a)(1-a)=(1—a)* 2-1 12ab+8b°=4b(3a+2b)

-2 —52y+axy=—xy(5r—1
81 (z-+y)+(2—3y)(z-+y) 2-2 —szrytaoy=—ay(5z=1)

=(z+y)x1+(x+y) X (x—3y) 2-3 6a°—a=a(6a—1)

(z+y)( 2 2-5 4zr'y—3zy+r=x(dzy—3y+1)

8-2 2(a—b)—(z+y)(a=b)=(a—b){2—(x+y)} —— RRRVITTE BEOIIRE DV S
x“(xfs) fx(z+3y) 3a(a+3) (z—y)(m—n) x(a+b) |
=(a=b)(2—z—9) S Jorrn]
3m(a 4b) r(a b) ZIy(x 2y+a) —x(x*—3y) Zb(x v)
9_2 I(d—b)—l—y(b—a):x(a—b)—y(a—b) ('%a+9) (b bz+2a) a(a 2b‘+3b) | xy(2z—4y+2a) ab(a b+2) i
:(a*b)(x*y) 2a(x—y) | z(2*—32) (z y)(m+n) Sa(af2b2+9b) 5ab(4a+3b) ‘
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L Q1425 ZA (1) '+ 2ab+D 2

p.132~p.134
3,33 12 (x+2)°
(z+6)° 2-2 (z+7)°
55,5 32 (x—4)
(x—9)* 4-2 (x—10)°
(84+z)° 52 (11—zx)*
3z, 3x, 3x 62 (2x+1)°
(4x+3)° 7-2  (5x+3)°
dx, 4x, 4x 82 (3x—1)°
(5x+2)* 92 (6x—1)°
1)? 1\2
1)\2 1 2
<2x+§> 11-2 (535—3)
4y, 4y, x+4y 122 (x+y)*
(x—6y)* 132 <x—% >2
2x, 9y, 9y, 9y 142 (5x—y)*
(3z+2y)* 15-2 (2z+5y)°
z—3 162 2(x—1)°
3(x—2y) 172 5(x+y)’

4-1

4-2

5-1

5-2

6-2

7-1

7-2

8-2

42|

CHdrt+a=x"+2xxx2+2°=(x+2)’

2+ 12x+36=2"+2X X 6+6"=(x+6)*

4142+ 49=2"F 2 X e X T+ 7= (2+7)*

r’—8x+16=x"—2Xxrx4+4'=(x—4)"

2’—18x+81=2"—2X X 9+9°=(xr—9)°

2’—20x+100=2"—2X X 10+10°=(2x—10)>

64+16x+1r'=8+2x8X xr+2'=(8+x)*

121—222x+2°=11"—2x 11 X r+2'=(11—2x)°

4+ 4r+1=(22)*+2x2xx 1+ 1= (22+1)*

162°+242+9=(42)" +2 X 4x X 3+3'=(42+3)°

252°+302+9=(5z2)*+2 % 5x x 3+3*=(5x+3)"

9x'—6x+1=(3x)*—2x3xx1+1°=(3x—1)*

HE o

9-1 252°+20x+4=(5x)"+2X5xrx2+2°=(5x+2)°

9-2 362" —12x+1=(6x)"—2x6xx1+1°=(6x—1)"

02 1 1 (LYo (pe LY
10-1 x+31+9—x+2><x><3+<3> ( +3>
S SIS S S L (LY 1Y
10-2 = 2x+16—x 2><x><4+<4>—<x 4>

2, 4 1 2 1 1
11-1 4z*+4o+5=(22) +2x2xx§+<§>

<2x -I—%)Z

11-2 %x2—3x+9:<% )2—2><ix><3+32

2
(1 L)
—(21’ 3)
12-2 2 +2xy+y'=x"+2Xxxrxy+y’=(x+y)’

13-1 *—12zy+36y°=2"—2 X x X 6y+ (6y)°
=(x—6y)’

2

13-2 xz—%nyr%yz:xz—Z X X%ﬁ(%a)
_ 1 2
=(z—)

14-2 252°—10xy+y°=(5x)"—2X5x X y+y’
=(5z—y)*

15-1 92°+ 122y +4y°= (32)°+2 X 32 X 2y+ (2y)*
=(3zx+2y)*

15-2 42’ +20xy+25y°=(2x)*+2 X 22 X 5y+ (5¢)*
=(2x+5y)*

16-2 2" —4x+2=2(2"—2x+1)=2(x—1)"
17-1 32— 12xy+12¢°=3(2"—dxy+4y°) =3(x—2y)’

17-2 52+ 10xy+5y"=5(x"+2xy+y°) =5(x+y)*



___________________________________________________________________ 9
1-1 49 12 64 1 2
()23
2-1 16 2-2 100 . 3 3
31 25 3-2 36 . L
41 9 42 81 32 2+0et = +Oe+(£1)
1 1 ) 1 1
3 * 3 Omax(s3)-2h
2 2__ .2 2
1-2 D:<%>2:64 4-1 2+ Jry+9y'=2"+(Jry+(+3y)
S )=2x(£3)=+6
2-1 OZ(%SYZIG 4-2 2+ xy+81y'=2"+( Jxy+(£9)’
~(O=2x(+9)=+18
_20 2
2-2 Dz(—)zloo ‘
2 5-1 x—l—Oxy—l—%y xz—l—Oxy—i-(i%y)Z
(10 e IV SN A
3-1 D*<7>*25 O 2X<i6> ig
12\2 2 1 2 » 1 \?
3-2 D:<7) =36 5-2 x+Oxy+Ey =r +ny+<i7y>
.'.D:2x<ii>:i£
=6\ 7 7
4-1 (J=(—")=9
4-2 D:<_218>~:81
1 2\]>_1
51 O=[(-2) =4 -
2 3 9 7 THZA| E7| 25 EHB) p.137 ~p.138
1.2V 1 111 4 (o7 )2 12 49
52 (=(Lx2)=L
25/ 2 21 9 22 9
31 vy 32 9
41 164 42 4y
1. 1
5-1 Iy 5-2 %
61 +12 (27 )33 62 +24
6 2THZA0| 27| st = (2) p.136 7-1 +8 72 +14
"""""""""""""""""""""""""""""""""""""" 8-1 =£30 82 +20
111 +8 12 +10
9-1 +28 92 +24
2-1 +16 22 +20
) ) 10-1 +10 10-2 +56
1 +3 32 +5 11-1 +2 11-2 +4
4-1 +6 42 18
51 &1 52 +2 1-2 42 —282+()=(22)*—2x 22 x 7+(_)
___________________________________________________________________ --D:7 =49
1-2 2+ Je+25=2"+ Jx+(£5)° - 2-1 162°+ 24z +( )= (4x)+2x 4z x 3+ )
~(J=2x(£5)=%10 : ~()=3=9
2-1 2+ Jx+64=2"+( Jr+(+8)’ 2-2 252°+30x+( )= (5x)"+2x5xx3+( )
S )=2x(£8)=+16 ~()=3=9
2-2 2+ z+100=2"+( Jz+(+10)* 3-1 4r'—day+( )=(2z)*—2x2xxy+( )
w(=2x(£10)=+20 - =y
4. CHaAlol ol | 43



3-2 4r'+12zy+( )= (2x)+2x2xx3y+( ) 8 RN BMQ 0B p. 139 ~ p. 141
= =y =9y’ 1-1 8388 12 (z+7)(z—7)
4-1 9x+24xy+© (3x) +2><3x><4y+© 21 (zHd)(z—4) 22 (2+6)(z—6)
. _ _ 3-1 <x+i>(x—l> 3-2 (x—l—i)(x—L)
(=)’ =16y" 3 3 2 2
4y 4 i 6).,._6
4-2 252" +20xy+( )= (52)*+2x5xx2y+(_ 41 <x+5><x 5> 42 <x+7><x 7>
O:( %)=y 51 (94+x)(9—x) 52 (10+x)(10—x)
6-1 4,44 6-2 (2x+1)(2x—1)
7-1 (7x+5)(7x—5) 7-2 (6x+5)(6x—5)
-1 92+ 3ay+(J=(32)+2x 3z X Ly+
S-1 9rtiny D z) IRy O 81 2,22 82 (x+4y)(x—4y)
= O=(3v)=1¢ 01 (x+3)(2z—%) 92 (4z+7y)(4x—T7)
10-1 (6x+5y)(6x—5y) 10-2 (9x+8y)(9x—8y)
B-2 25x —I—Zch—I—O (5x) +2><5x><—y—0—© 11-1 (%x—f—%y)(%x—%y) 11-2 <%x+%y>(%x—%y)
O (L, =Ly 12-1 25,5,5,5 122 3(x+1)(x—1)
. *<?y> 257 13-1 5(x+2)(x—2) 13-2 4(x+3)(x—3)
, 14-1 6(x+y)(x—y) 14-2 3(x+5y)(x—5y)
6-2 9z +Dx+16 (3z +Ox+(i4) 15-1 5(3x+y)(3x—y) 15-2 3(3x+2y)(3x—2y)
=2xax(x4) =42 16-1 (5+2)(5—x) 162 (11+x)(11—x)
-1 —4(2x+3 2x—3 -2 —2(bx+2 S5x—2
7-1 162+ Jr+1=(dz)+( Jz+(+1) 171 —4Q2e+3y)(2e—8y) 172 —25etsy)(5e-%)

~[J=2x4ax(£1) =28 1-2 2£°—49=2"—7"=(2+7)(x—7)

7-2 492+ Jr+1=(72)"+( Jx+(£1)? , .
S (=2x7x(+1)=+14 2-1 £'—16=2"—4=(x+4)(z—4)
8-1 92’ +( Jr+25=(3z)"+( Jx+(+5)* 2-2 2’—36=1"—6"=(2+6)(x—6)
OZX3Xi)i30 , 1 , (1) 1 1
. . 3 r—g=a—(g) =(e+5)=3)
8-2 25x°+( Jx+4=(5x)"+( Jr+(£2)’ ‘
H s 1 2 1)\? 1 1
. (O=2x5%(£2)=%20 32 () (et g e 3)
9-1 42’+( Jay+49y°= (22)*+( Jay+(£7y)’ 4-1 xzfé—g:f*(%)Z:(er%)(l‘*%)
S ()=2x2x(£7)==+28 ,
2 B3 (er)e-t)
9-2 162"+ Jay+9y'=(42)*+( Jxy+(£3y)
s )=2xax(+3)=+24 5-1 81— 2’=9"—2*=(9+2x)(9—x)
10-1 252°+( Jay+y'=(52)"+( Jay+(+y)’ 5-2 100—2'=10"—2’=(10+x)(10—x)
S )=2x5%x(£1)=+10
6-2 4r’—1=(2x)"—1’=(2x+1)(2x—1)
10-2 492"+ ( Jxy+16y"=(72)*+( Jey+ (+4y)’

S ((J=2x7x(+4)=456 7-1 492°—25=(7z)*—5'=(72+5)(72—5)

11-1 %12+Oxy+4y2:(%x>2+01y+(i2y)2 7-2 36x°—25=(6x)"—5"=(62+5)(6x—5)
+

S| B
"O*2X7X(i2)* 2 8-2 '—16y'=2"—(4y)'=(z+4y)(x—4y)

11-2 %x2+ny+36y2:<%x)z+ny+(iey)z 9.1 4x'—9y*=(2x)"— (3y)*= (22+3y) (22— 3y)
N B
Umexgx(x6)==4 92 162°—40y°= (4z)'— (7y)"= (4x+7y) (42— Ty)
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10-1 362°—250°=(62)°— (59 )= (62+5¢) (62—5y) 3 () H6xy+9i=(x+3y)
(3) 162°—9y°= (4x)’— (3y)*= (4x+3y) (4x—3y)

10-2 812" —64y°=(9x)*— (8y)’=(9x+8y) (92 —8y) : 6) 45— 25—=(22)'—5°= (2245) (22—5)
i L:szflyz:(Lx)C(iy)z (7) 182°—24x+8=2(9x"—12x+4)=2(3x—2)
9 4 3 2 (8) 252"+ 20xy+4y’= (52 +2y)*

()L 2))

9 Q25 ZAB)

12-2 32°—3=3(2"—1)=3(z+1)(z—1) 2+ (a+b)x+ab & (1) p. 144 ~ p. 145
13-1 52°—20=5(x"—4)=5(x+2)(xz—2) -1 —2,-3,—-1,—-2 1-2 1,4
2-1 2.4 22 —1,-5
13-2 42°—36=4(2"—9)=4(x+3)(x—3) 31 12 32 —2.4
2 2 2 2 4 1, -5 4-2 —53
14-1 62" =6y’ =6(x"—y")=6(x+y)(x—y) 510 (2+1)(2—4). 2, —4 —dz
14-2 32°—750°=3(2"—25¢*) =3(2+5y) (x—5¢) 52 (zx+1)(x+4),1,x,4, 4z
61 (x—2)(x—7),—2, —2x,—7,—Tx
15-1 452°—5y°=5(9x"—y") =5(3x+y)(3x—y) 62 (x—2)(x+4), —2, —2x,4, 4x
7-1 (z—5)(x—7) 7-2 (zx—4)(x+5)
15-2 272" —12y°=3(92"—4y") =3(3x+2y) (3x—2y) 81 (2—7)(z—9) 82 (z+3)(z—4)
L omon o B 9-1 (z—4)(x—5) 9-2 (2+1)(x—8)
161 —e+25=25-2'=(5+2)(5-2) 10-1 (2—3)(z+8) 10-2 (2+3)(2+7)
16-2 —2+121=121—2*=(11+2)(11—2)
1-2 Fo| 491 = F2 = m4ol &
17-1 —162°+36y°= —4(42"—9y°) 1 4 5
—4(2x+3y)(2x—3y) 2. 2 1
3 —1,—4 -5
17-2 —502°+8y°= —2(25x°—4%°) E— -

—2(5x+2y)(5x—2y)

2-1 Zol 89l = F4 = 4ol
1, 8 9
2, 4 6
HOJA} RIZ=O{A —2,—4 —6
lERt SRSl e o) som el peL A g a1
-1 (2—8) 12 (3z+4)
13 (a—3) 14 3(z—3)° 22 mosasms = 54l 8l
: 1, 5 6
1-5 (22+3)(2x—3) 1-6  (8z+7y)(8x—7y) : - —
17 (1+3z)(1—3x) 1-8  2(4x+3y)(4x—3y)
21 9 22 4 = o] 50]L Fo] —691 = F4= —1, —50]t},
22 isl; 2:2 ;3 31 ol —201 = F= FErE
L oo e Tanes o -

o> Fo] —20]1L Fo] 191 % 4k —1, 20|t}



3-2 0| — 801 = ma = xao| 5t 81 F16z+63=(z—7)(z—9)
-1,8 7 x <— —Tx
—2.4 - x 9 — —9x(+
4.2 2 R —
—8.1 7 82 r—zr—12=(243)(z—4)
= 0] —80]aL §fo] 291 = A= —2, 40]t}, x 3— 3z
x —4 — —dx(+
1 zol-sesme = ol —
~1, 5 4 ,
1.5 4 9-1 2*—9x+20=(x—4)(x—5)
_ x —4 — —Ax
= o] —50]1 Fo] —491 i 41, —5olc}
X —5 — —5x(+
42 movizEs = 54l 8 o
—L15 14 92 2’—7x—8=(x+1)(x—8)
—3.5 2 X 1 — x
=93 2 xz <f8 —8x(+
—15,1 —14 5
—Tx

= o] —150]11 o] —291 FF 4L —5, 3o]ct,

10-1 2°+5x—24=(x—3)(x+8)

5-1 2¥*—3zx—4=(x+1)(x—4) x <—3—> —3r
x < 1 — - x 8 —  8x(+
x + ————— 5z
oo 10-2 '+ 10x+21=(2+3)(z+7)
5-2 2+5x+4=(x+1)(x+4) x <3H 3z
x — x 7T—  Tx(+
x < 4) — [dz)(+ — 10z
S5x

6-1 xz—9x+l4:(x—2)(x—7)

x < — =24
z — L+ 10 oHEsl BN
—ox '+ (a+b)z+ab B2 P. 146 ~ p. 147
6-2 r'+2x—8=(x—2)(x+4) 1-1 (z+2y)(x+3y), 2y, 3y, 3zy
x (—2) — 12 (x+y)(x+3y),y, 2y, 3y, 3xy
z < . ( + 2-1 (x—2y)(x—5y), —2y, —2xy, —5y, —5xy
or 22 (x—3y)(x—7y), —3y, —3xy, —Ty, —Txy
© 31 (x+3y)(x—4y), 3y, 3xy, —4y, —4xy
7-1 2—12x+35=(2—5)(x—7) 32 (xt4y)(x—9y), 4y, dxy, —9y, —9xy
z 5 —+ _—5g 4-1 (x—4y)(x+6y), —4y, —4xy, 6y, 62y
z 7 —  —Tx(+ 4-2 (x—3y)(x+10y), —3y, —3xy, 10y, 10xy
1oz ¢ 51 (x+y)(x+3y) 52 (z+3y)(x+4y)
6-1 (z—2y)(xz—3y) 62 (x—2y)(x—9y)
7.2 Z4z—20=(z—4)(z+5) 71 (z—y)(z+4y) 72 (2—7y)(x+8y)
r 4 4y 81 (x+3y)(x—7y) 82 (x+6y)(x—7y)
2 5—  So(+ 9-1 2(x+1)(x+5) 9-2 3(x+1)(x—7)
; 10-1 4(z—y)(x—3y) 10-2 3(x+3y)(x—5y)
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1-1

1-2

2-1

2-2

3-2

4-1

4-2

5-1

2’ +5xy+6y°=(x+2y)(x+3y)

r <@H 2xy
X .ry +
——— 5xy

2+ dxy+3y°= (x—l—y) (x+3y)

>

x

(By) — (Bzy)(+
4xy

2’ —Txy+10y°= (2 —2y) (x—5y)

x <ﬂ (=2zy)
x (=5y) — [(=5ay)(+
————— —Txy

2—10xy+21*=(x—3y) (x—Ty)

<ﬂ
(—7y) — +
—— —10xy

x'—5zy—36y°= (x+4y) (x— )

z <m
(=9 — [(Z9zy)(+

———————— —5xy

X

x4 2zy —24y°= (x—4y) (x+6y)
x <%
[ 6y) — +

2xy

X

x'+7xy—30y°= (2 —3y) (x+10y)

x <@
27| 2 (10y) — (10zy](+

Txy

2’ +dxy+3y'=(x+y) (x+3y)

x <y—> Xy

x 3y — 3xy(+
4xy

'+ 72y +12y°= (2+3y) (2 +4y)

X <3y — 3xy
X dy — dxy(+

Ty

6-1 x"—5xy+6y"=(r—2y)(x—3y)

x <—2y—> —2xy

—3y — —3xy(+

—————— —5xy

x

6-2 z'—1lay+18y"=(z—2y)(x—9y)

x —2y — —2xy
x —9y — —9xy(+
——1lxy

7-1 2 +3xy—4y'=(z—y)(x+4y)

&

—y— —xy

dy— dxy(+

—— 3xy

& 8

7-2 x2’+xy—56y"=(x—7y)(z+8y)
X <—7y — —Txy
8y — Bxy(+

Xy

X

8-1 2'—dxy—21y'=(x+3y)(x—7y)

x < 3y — 3xy
X — Ty — f7xy( +

L —4dxy

8-2 2'—xy—42y’=(x+6y)(x—7y)

x < 6y — 6xy
x —Ty — —Txy(+

—xy

9-1 22’ +12x+10=2(2°+62+5)

x <1—> x

27| N5 Sa(+
6x
=2(x+1)(x+5)

9-2 3x°—18x—21=3(x"—62—7)

x <71—> x

x 7T — —Tx(+

—6x

=3(x+1)(x—7)

10-1 42’ —16xy+12y"=4(2"—day +3y°)

X -y — —xy
x —3y — —3xy(+
—dxy



10-2 32°—6xy—45y°=3(

2-2

X 3y — 3xy
X <f5y—> f5xy(+
—2xy
=3(x+3y)(x—5y)
oLt A @)
acx’+ (ad+bc)x+bd &= (1) p. 148 ~ p. 149
(x+2)(2x+1), 4x, 2z, 1,
(x+2)(5x+2),10x, 5z, 2, 2x
(x—1)(22—3), —2x,2x, —3, —3x
(226—1)(3x—2), —3x, 3z, —2, —4x
(3x—4)(x+2),3x, —4, —4x, 6x
(22—3)(3x+5),2x, —3, —9x, 10x
(x+1)(20—3),2x, 22, —3, —3x
(3x—2)(3x+1),3x, —2, —6x, 3x
(x+3)(4x+1) 5-2 (xz+3)(2x+3)
(3z+2)(4x+3) 62 (x—2)(5x—2)
(z—3)(3z—2) 7-2 (x—4)(2x—9)
(22—1)(22+3) 82 (x+2)(3z—1)
(x—2)(22+9) 9-2 (2x—3)(3xz+1)
(x+1)(52—9) 10-2 (z—6)(52+1)
2x2+5x+2:(x—0—2)(2x+1)
- <
. 4+
52°+12x+4=(2+2)(52+2)
x < 2 — m
(2z)(+
122
22°—5x+3=(x—1)(2x—3)
x -1 —
(=8 — 3+
—b5x
62’ —7x+2=(22x—1)(3z—2)
2x <—1 —
(2 — Cag)(+
— —x
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7' =2y —15¢")

3-1 32°+2x—8=(3x—4)(x+2)

<H
x 2 — +
2x
3-2 6x°+x—15=(2x—3)(3x+5)
=3 —
3x 5 — [10z)(+
X
4-1 22°—x—3=(x+1)(22—3)
x 11—
=3 — o+
—X
4-2 9x’—3x—2=(3x—2)(3x+1)
=2 —
3 1 — +
—3x

5-1 42’ +13x+3=

X <34’ 12x
4x 1 — x(+

(x+3)(4x+1)

13x
5-2 22°4+9x+9=(x+3)(22+3)
x <34’ 6x
2x 3— 3x(+
9x
6-1 122°+172x+6=(3zx+2)(4x+3)
3x <2—> 8x
4x 33— 9x(+
17x
6-2 52°—12x+4=(x—2)(52—2)
X —2 — —10x
5x —2— —2x(+
—12x
7-1 32°—1lx+6=(x—3)(3zx—2)
X —3— —9%
3x —2 — —2x(+
—1lx




7-2

8-1

9-1

9-2

10-1 52°—4x—9=

10-2

22'—17x+36=(x—4)(22—9)
X - —8x
2x < -9 — —9z(+
—17x
42°+4x—3=(22—1)(22+3)
2x <—1 — —2x
2x 33— 6x(+
4x
3x’+5x—2=(x+2)(3x—1)
X < 2 — 6bx
3x —1— —x(+
5x
22°+5x—18=(x—2)(22+9)
x <— — —4x
2x 99—  9x(+
5x
6x’—7x—3=(2x—3)(3z+1)

2x <—3 — —9x

11— 2x(+

—Tx

3z

(x+1)(52—9)

1— S5x

—9 — —9x(+

—4x

K

S5x

52°—29x—6=(x—6)(5x+1)

x <—6 — —30x
5x 1 — x(+

—29x

O|J\|='—H _T'_AI 4) :

acx’+ (ad+bc)x+bd =) p. 150 ~p. 151

2x+3y)(2x+5y), 6xy, 2x, 5y, 10Xy
x+2y)(2x+3y), 4xy, 2x, 3y, 3xy
2x—y)(5x+3y),2x, —y, —5xy, 6xy
2x—y)(3x+4y), —3xy, 3x, 4y, 8xy
x+2y)(52—3y), 10xy, 5x, — 3y, —3xy
x+4y)(3x—2y), 12xy, 3z, —2y, —2xy
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3-1 16x7+16%x3=16(7+3)=16x10=160

p. 166 ~ p. 167

3-2 17x47+17x53=17(47+53)=17x100=1700

3-5

3-6

=2.5%100 X 20
000 5 (22—3y—5)> 6) (x—2)(x—3y—3)
o 1)@, 9200 @ ©, 64 3 @, 10000 @) ©, 62.8
(1) 8100 (20 —5/2+2 () 24/2
4-1 J&—6x+9={(x—3)" - L
=/(42— S)Z]x vt @) a'b+ab’=ab(a+b)°] A=
=/39°=139 1,ab,ab, a+tb,ala+b),b(a+b), abla+b)
a’b+ab’
4-2 r'+2r+1=(z+1)° ] e— @) 20°—8=2(a’—4)=2(a+2)(a—2)
=(2=141)- T
=(J2)*=2
1) z+6=A=% A3
6)'—9=A"-9=(A+3)(A-3
4-3 x2+2xy+y2 (x+ ) ( + )( )
, =(x+6+3)(x+6—3)
:(x+‘7/) — 5 ,,— [52 CHo! —
:(2_£+2+£)2]x72*v‘0,.!/72+v3§ Hed —(1"}’9)(1’4‘3)
=16 () 5xy—6xy—8y=y(5x"—6x—8)
=y(x—2)(5x+4)
B) P +drt+d—y'=(x+2)*—
4-4 -y =(z+2+4y)(z+2—y)
=(z+y)(z—y) =(z+y+2)(z—y+2)

100°—99°=(100+99)(100—99) =199 X 1 =199

/58" —427=(58+42)(58—42)=/100 X 16 =40

21°—2x21+1=(21—1)*=20"=400

60°% 2.5—40°% 2.5=2.5(60°—40%)
=25(60+40)(60—40)

:(ﬁ‘f‘ﬁ‘f‘ﬁ—ﬁ) ]x ¢u+¢)
x{(V3+y2)—(/3—/2)} —2E Y
=2/3%x2/2=4/6

MmO 0 B30 8 x
1) xy(dx+7) @ 2a(ab’—b+1) ) (x—6)°
4) (4a—5b)* ) (y+5x)(y—5x)

(
0 3e+)e-1)
() 2x+4 () a*+4

1) 49 @ 16 3 40 @ %

M 4(x—3)(x+7) @ (a+2b)(a—5b)
3) (22+3)(5x—4) @ (3x—2y)(6x—y)
G) (a—2)(8a+3)
) (x+9)(x+3)
B (xt+y+2)(z—y+2) @ (z+y—4)(x—y+4)

y(x—2)(5x+4)

4) 2*—y’+8y—16=2"— (’'—8y+16)
=r'—(y—4)°
=(x+y—4)(x—y+4)

(5) 20—3y=A=E s}

(22—3y)(2x—3y—10)+25

4.5 x:ﬁ:z—ﬁo]ﬂi —A(A—10)+25
Z—drta=(z—2)"=(2—/3-2)"=(—/3)"=3 =A'-104+25
=(A—5)*
=(2x—3y—5)*
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x:ﬁ:ﬁ—l, y:ﬁ:ﬁﬁ— lojo&
xy—xy’=xy(x—y)
=(y2—1)(J2+1){ J_ —(/2+1)}
=(2—-1)x(—2)=

I. H}H
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6) £*—3xy—5x+6y+6
=—3zy+6y+2’—52+6
=—3y(x—2)+(x—2)(x—3)
=(zx—2)(x—3y—3)



